INSTALLATION INSTRUCTIONS

A il Glol < ilus

|\Humma\\on

Attentions:
1- The lamp must be installed in rated voltage and assure safety earth for class | lighting products.
2- Installing and fixing the lamp should be processed by professional under the condition power off.
3- If the external electrical wire damage please changed by the professional in time in case of any danger.
Ayl el Jungi (o AAlilg U_idoll A el i a 6jUMI 6ang winiiciny —|
ibranihuil Jns Uo a5l Go Uaine wpis dauwlgrcuplillg Lus il duloc i Uluiny —f
ojil o\l Ulelpal plél aine (»idy Ula Jailpas sl agag of dliol) pibrasl el o li §itigan aic -

USPENDED INSTALLATION ACCESSORIES LIST ddleoll Jungill léale dosld
éaclolldliag Clubioll ey €l ey ellelpbio Gul=il dilglawl
1 Canopy 1PCS Screw clip 2PCS M4 Screw 2PCS Wire Clip 3PCS Hanger Bolt 2PCS
il 6acld ublagllcuyioll ol il oepy dulileluiio Gul=sillellin
2 |Bracket TPCS | Ribber Plug 4PCS | {4 et tapping screw 4PCS Suspension Clip 2PCS Hanging Wire 2PCS
NI IV D o
Gul=ill dilglauwl

Hanger bolt

s AY.
— — ===
Iu Uo dolall el jio
\ \ { S [VSETEECRVENS
wblaollcuioll S The power cable goes
Rubber plug into the bracket hole
% J ol
) '
il 820l Il il e
Bracket M4 self-tapping screw

Cluioll e p
Screw clip

sl
Hanging wire

Cluiio)l h2A b
Push the clip__y

Wilpashuilhell £l ey

Power cable \ M4 Screw Z
(@ugate \
.

Qi Ll
N Bue ——

. L Brown
Jaslg ponl
(Ul Ll
Yellow green N
(earth wire) i eluiio
Wire clip

\

1ASlg Lo ni+wlaD ~—__
(oul eLluull)

Clear yellow green

(earth wire)

(Wlaub)oall il
L Clear

(@yi+wlaab)sate)l juul
N Clear+white

6300)l Jpngi el
Fixture cable

(1): Cut off the power then measure the distance between the bracket and the suspension wire, then install the rubber plug.
(2): Install the bracket to the ceiling as per FIG2.

(3): Install the screws inside the hanger bolt (to the ceiling) as per FIG3.

(4): Fix the suspension clips with screws to the screw clip (to the fixture) as per FIG4.

(5): Adjust the appropriate height by pulling the hanging wire as per FIG5.
(
(
(
(

7): Connect the power cable and fixture cable as per FIG7.
8): Install the canopy, then use wire clip to hook power cable and hanging wire together as per FIGS8.
9): Tighten the fixture well, then switch on the power.

6): Fixture cable going through the canopy and lock up by a rotating screwdriver as per FIG6.

(1



INSTALLATION INSTRUCTIONS

LAl Ol =i

illus

|Hlumma\\on

whblhaollcuiollisyis d Guse il elling uugdll 8acléll i doluoll uulidi o8 d e sl Ul &I ()
[ 6)90)U Qg0 90 LoA L& b6 il 63018 Lupa ) o «(1)

P 8)gnJlango g lod (W&ul) Gal=ill dlghawl JAla el Cupdiy o b «(F)

£06)gnILargo 90 los (632¢JL) eluiioll (xép 6 Holurolu el ilitio LSy s (€)

06)gnJLarigo ga los Gl el §iph e Liwlioll EL0HVI WA 06 :(0)

o) 6)gnllango ga los Jlga pel el o dniwlgs il s ol 6acléll dlA o jie cuydill Juls Jro:(0)

V 6jgnllango ga o 6angll &l o odlras il Ll Jingiy b (V)

N 6)0lUaAgo ga los leo Gul=illellg AsUall Juls el eluiio padiwl rod 6aelél dllho withyiios (A)
IUpaal Uil Jungl o od1aun dliodl Culi o 250 (9)

SURFACE INSTALLATION (OPTION 1) (1) pakhall il ddypa
>ahndicyiilléacls odadleiil ey oblaollcirioll
# Surface-mounted bracket 2PCS M4 self tapping screw 4PCS Rubber Plug 4PCS
LAY 7 ALY ol
Qs'ffﬂl ;:j;oj‘ (\)t)\B)rs\il:\um (Gidgatst it
il 6acls /\ N Blue
ookl ol
| Surface-mounted | | / earth wire
! bracket ' ' 1 Yo
i i i |
i e (earth wire)
I L ey I
M4 self-tapping screw ! Lo1£ 5350l g ellis T
g g /\ g E C::‘Zf‘F the fixture“caqb-[e 14 mU;-s[S (lehgéﬂj:f:‘ e
i i |
=

(1): Cut off the power then measure the distance between the mount bracket and the fixing wire, then install the rubber plug.
(2): Take out the end, then pull out the fixture cable, then cut off the cable, then connect the power cable to the fixture cable.
(3): Put back the end cap and screw tight, then put the fixture inside the surface-mounted bracket and twist properly.

(4): Tighten the fixture well, then switch on the power.

oblaoll cuioll wA iy o od s cupdill eling il 6aels (u do o)l yulié) os pd odurasl il Exalal(l)
6300)l U H3La sl S Jingly o red WUl yadl oo ol 8angl s il ed dusaJl dylaill el 6 ()
Aan JAaiiyaglyod od Aol ude Cioll Joladl ala Cioll i odplany pe i vl duopall dylaill eUac 6alel o :(F)

oIUraaIl il Jpngii s od larn ddioll Gyl (o 24U «(€)

SURFACE INSTALLATION (OPTION 2) (Fusd) pakuwll i) 8y
sy lcapiill 6acld ol ey uhalagll Cuioll
# Surface-mounted bracket 2PCS M4 self tapping screw 2PCS " Rubber Plug 2PCS

(2)



INSTALLATION INSTRUCTIONS

illus

|Hlumma\\on

wblhollculoll
Rubber plug

Cydilleluiio
|

oAkl
/Surface-muunted
clips

Il edil ey
M4 self-tapping screw

[SDREN T
L Brown (GiDsatsl it
N Blue
AUl
earth wire
/

|
V4 /

) ARG o nl+sled
(lab)oall il (ol el
L Clear Clear yellow green
(earth wire)

Jio L€ 53ng)l Jungi el yad
Cut off the fixture cable 1.4 meters

(@il+olaib)gatel il
N Clear+white

]

1): Cut off the power then measure the distance between the surface mount bracket and the fixing wire, then install the rubber plug.

(2): Take out the end, then pull out the fixture cable, then cut off the cable, then connect the power cable to the fixture cable.
(3): Put back the end cap and screw tight, then put the fixture inside the surface-mounted clips and twist properly.

(4): Tighten the fixture well, then switch on the power.

oblaoll Curioll LA s b g cuiileLlg Cupdill 63018 (L Goluoll uulié) b d ,odura sl JUill Exe (1)
B0l iy pibpa sl il il Jingi o od Il uads o od dangdl Juls wiawl d duopal dulaill elial b (1)
A JAlinagl o od alaudl ple Cuioll Joladl JAla Citioll 6 pd olanl o il Cusig duopnl dglaill eUac dalel o ()

oIbra sl Jpngii o darn ddioll vl (o 24U (€)

INTERCONNECTION ACCESSORIES LIST FOR 15W hlg 10 J Jungill Wldale doild
Giilleluiio gl ey (WENENIENE] Frol it
# | installation Buckle 2PCS M4 Screw 4PCS Blocking Filter 2PCS M3 Screw 4PCS
INTERCONNECTION ACCESSORIES LIST FOR 30W & 40W hlg & & kg P J Jungill wldale doild
Ciniilleluio €oluey walaliyuAalell
# | Installation Buckle]| 47 CS M4 Screw 8PCS Blocking Filter 2PCS

INTERCONNECTION INSTALLATION STEP

JLngill Uléale Liiayj ulghs

Jio L€ 6angll Jungicllyyad
Cut off the fixture cable 1.4 meters

(Wlawb)al il

(UAani+wlaub)satsl il
_ - NClear+white

S\ paslgenelen
N (sl
_ 7 Clear yellow green
(earth wire)

(UAnl+wlaub)salluul
N Clear+white

(Wlab)oalljuul
L Clear

Jingill eluiio
Installation buckle

:\ _+— Blocking filter
X/ (ST RN

The white side




INSTALLATION INSTRUCTIONS

LAl Ol =i

illus

|\Humma\\on

(1): Take out the end, then pull out the fixture cable, then cut off the cable, then connect the power cable to the fixture cable.
(2): Connect the power cable and fixture cable as per FIG2.

(3): Insert the installation buckle to the profile and tighten screws by spanner to connect two fixtures.

(4): Paste the blocking filter to the interconnection portion to prevent light leak out before put on the diffuser.

83000 Ul L3Upa Al UL LS Jbngy ous od w il uady ous b 6830l U Lawl od o padl dglaill eliab o «(1)
[ 8)g0)U ardg.0 ¢a los 6angll il Go . piUrantl Uil il Jingi s (1)

Wlangl (o Wil Upngll lny elie o dlauwlgy el A1iig @il o (6 Caupiill Ciyio Jaal:(®)

2G Al LB e AAg Jib gl L Giod Ailho o Lialall yuslell s i s (€)

Warning
- This series have internal (built in)drivers.

- Please keep at least 75Smm vent around the fixture.

- The use of this fixture should not violate any fire protection laws and regulations.

- Under no circumstances should the product be covered by thermal insulation pads or similar materials.
- Do not install the product above high-temperature objects or humid places.

- When the product work is abnormal, cut off the power supply quickly, then contact the store.

Wlpaaj
N6 6 (Aaoaoll) dulAala]l paudiun o Josiwlaiiol oaa duuliy —

6ang)l g JoYl ude oo Vo dyga dnids hlginyl sap —

&3l o Lol QSlglg Uulg 8 (5l jlanl 1aa pola il elaviy Uein) —
5 | loo algo ol 81l djle Wialwg) Qlioll dn i 6o Al (Lo WA ST vind i) U -
///\\\ Aulny uAalol gl dle 8)lpa daya wla olual §go Qliol Ciuiiodi VU —

FaioluJunildi1jgo Liura sl Uil &ad) b i pe Qlioll Joc Ugh) loaic —

ECEAB T @IP20

AC220~240V, 50/60Hz, Class I, IP20, ta45°C



